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Question Number : 1 Question Id : 6154754129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

515475165101, 1
61547516102 2
61547516102, 3
E1547516104. 4

Question Number : 1 Question Id : 6154754129 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547515101, 1
E15475168102. 2
51547516103, 3
51547515104, 4

Question Number : 2 Question Id : 6154754130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547516105. 1
615475168106, 2
61547516107, 3
61547516108, 4

Question Number : 2 Question Id : 6154754130 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475161051
615475168106, 2
61547516107, 3
61547516108, 4

Question Number : 3 Question Id : 6154754131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

5154751651051
61547516110, 2
61547516111, =
E15475168112. 4



Question Number : 3 Question Id : 6154754131 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

5154751651051
61547516110, 2
61547516111, =
E15475168112. 4

Question Number : 4 Question Id : 6154754132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547516113. 1
E1547516114. 2
51547516115 3
E1547516116. 4

Question Number : 4 Question Id : 6154754132 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475161121
61547516114, 2
61547516115 3
E15475168116. 4

Question Number : 5 Question Id : 6154754133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547516117, 1
E15475168115. 2
E15475161143. 2
B1547516120. 4

Question Number : 5 Question Id : 6154754133 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516117, 1
615475161158, 2
E15475181143. 3
E1547516120. 4

Question Number : 6 Question Id : 6154754134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



E1547516121. 1
B15475168122 2
61547516123, 3
61547516124, 4

Question Number : 6 Question Id : 6154754134 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547518121. 1
B1547516122 2
B15475168123. 3
61547516124, 4

Question Number : 7 Question Id : 6154754135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475161251
61547516126, 2
E15475168127. 3
E15475161258. 4

Question Number : 7 Question Id : 6154754135 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547516126. 2
B15475168127. 3
61547516125, 4

Question Number : 8 Question Id : 6154754136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547516129, 1
61547516120 2
61547516121, 5
61547516122 4

Question Number : 8 Question Id : 6154754136 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547516129, 1
1547516120 2
61547516121,
61547516132 4

Question Number : 9 Question Id : 6154754137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547518123. 1
E1547516124. 2
61547516135 3
61547516136, 4

Question Number : 9 Question Id : 6154754137 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547518123. 1
E1547516124. 2
61547516135 3
61547516136, 4

Question Number : 10 Question Id : 6154754138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547516137, 1
E154751681258. 2
E1547516139. 3
51547516140, 4

Question Number : 10 Question Id : 6154754138 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



fAfefign § @ fopm wom = oy | gftereaan wiisor geg sagmon 27

(1)  TEFTeHE Wy (2) ufEEF Yy
(3)  mAww o (4) =TT
Options:

51547518137, 1
61547516128, 2
61547516139, 3
E1547516140. 4

Question Number : 11 Question Id : 6154754139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

515475161411
61547516142 2
61547516142 3
615475165144, 4

Question Number : 11 Question Id : 6154754139 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475161411
61547516142 2
61547516142 3
615475165144, 4

Question Number : 12 Question Id : 6154754140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3) teaching—learning process (4) management strategies



Options:

61547516145, 1
1547516146 2
E1547516147. 2
61547516148 4

Question Number : 12 Question Id : 6154754140 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475168145. 1
E154751614E. 2
61547516147, 3
515475161458, 4

Question Number : 13 Question Id : 6154754141 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

515475161491
61547516150, 2
61547516151, 3
615475165152, 4

Question Number : 13 Question Id : 6154754141 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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E1547516145. 1
E1547516150. 2
51547516151, 3
61547516152, 4

Question Number : 14 Question Id : 6154754142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

6154751681531
61547516154, 2
61547516155 3
E1547516815E6. 4

Question Number : 14 Question Id : 6154754142 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154751681531
61547516154, 2
615475165155, 3
E1547516156. 4

Question Number : 15 Question Id : 6154754143 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear defimitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s falze

(4) (A) 1s false. but (R) 1s true

Options:
1547516157, 1

E1547516158. 2
E1547516159. 3
B1547516160. 4

Question Number : 15 Question Id : 6154754143 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547516157. 1
615475168158, 2
61547516159, 3
61547516160, 4

Question Number : 16 Question Id : 6154754144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E15475168161. 1
E1547516162. 2
BE1547516163. 3
61547516164, 4

Question Number : 16 Question Id : 6154754144 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475168161, 1
615475161652 2
61547516162, 3
E1547516164. 4

Question Number : 17 Question Id : 6154754145 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475161651
61547516166, 2
E15475168167. 3



E15475161658. 4

Question Number : 17 Question Id : 6154754145 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
15475161651
61547516166 2
1547516167 2
1547516165 4

Question Number : 18 Question Id : 6154754146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

H HPU =9, JNU =9, then DI7 =7

(1) 5 (2) 6
(3) 4 4 7
Options:

E154751616%9. 1
E15475168170. 2
E1547516171. 3
BE1547516172. 4

Question Number : 18 Question Id : 6154754146 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aff HPU =90, JNU=90, @i DU= 7

(1) 5 (2) 6
(3) 4 & 7
Options:

E154751616%9. 1
615475168170, 2
61547516171, 3
61547516172, 4

Question Number : 19 Question Id : 6154754147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475161721
61547516174, 2
E15475168175. 3
B1547516176. 4

Question Number : 19 Question Id : 6154754147 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53, 63, 83

(1) 13 2y 53
(3) 63 (4) 83
Options:

5154751681731
61547516174, 2
61547516175, 3
E15475168176. 4

Question Number : 20 Question Id : 6154754148 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 1in two
yvears. Find out the principal amount.

(1) Rs. 1,900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547516177. 1
B1547516178. 2
61547516175 3
61547516180, 4

Question Number : 20 Question Id : 6154754148 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 1900 =. (2) 1910 %,
(3) 1915 %, (4) 1920 =.
Options:

E1547518177. 1
E1547516178. 2
61547516175 3
61547516180, 4

Question Number : 21 Question Id : 6154754149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547516181, 1
61547516182, 2
E15475168183. 3
E1547516184. 4

Question Number : 21 Question Id : 6154754149 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547516181. 1
B1547516182. 2
61547516183, 3
61547516154, 4

Question Number : 22 Question Id : 6154754150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
3 Sub contrary (4) Subaltern
Options:

E1547516185. 1
B1547516186. 2
B15475168187. 3
615475161858, 4

Question Number : 22 Question Id : 6154754150 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547516185, 1
61547516186, 2
E1547516187. 3
E154751681858. 4

Question Number : 23 Question Id : 6154754151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

515475161859, 1
61547516130, 2
61547516131, 3
E154751681352. 4

Question Number : 23 Question Id : 6154754151 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =rff (2) =9
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Options:

515475161859, 1
61547516130, 2
615475161391, =
E154751681392. 4

Question Number : 24 Question Id : 6154754152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals™. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

E1547516193. 1
61547516154 2
61547516135 3
61547516136, 4

Question Number : 24 Question Id : 6154754152 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  fagm fuy (2) foum fag=
(3)  =EYm fmy (4) TEYE fEm
Options:

£15475161392. 1
61547516134, 2
E15475161395 3
B1547516196. 4

Question Number : 25 Question Id : 6154754153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

615475161397, 1
615475161358, 2
E1547518139%9. 3
E1547516200. 4

Question Number : 25 Question Id : 6154754153 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

6154751651397, 1
E154751681395. 2
E15475161395. 3
B1547516200. 4

Sub-Section Number: 2
Sub-Section Id: 615475186
Question Shuffling Allowed : Yes

Question Id : 6154754154 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754155 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547516201, 1
E1547516202. 2
E1547516203. 3
61547516204, 4

Question Number : 27 Question Id : 6154754156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

615475162051
61547516208, 2
E15475168207. 3
E1547516208. 4

Question Number : 28 Question Id : 6154754157 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

E1547516209. 1
E1547516210. 2
E1547516211. 3
B154751621%2. 4

Question Number : 29 Question Id : 6154754158 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

515475162121
61547516214, 2
61547516215, 3
E1547516821E6. 4

Question Number : 30 Question Id : 6154754159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

61547516217, 1
61547516218, 2
E1547516218. 3
B1547516220. 4

Question Id : 6154754154 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



e : w9 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 50 fafus TR 51991 575 & Fog0 1 ol w1 39 =
2| 31 & TR W 9vT HEA (26-30) 1 I S0
s U Tt TR S e i Hen (FEE )

; FAH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154754155 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

79 2002 F9T 9 2005 T 59 T UH FogA F TEA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547516201, 1
E1547516202. 2
B1547516203. 3
61547516204, 4

Question Number : 27 Question Id : 6154754156 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547516205. 1
B1547516206. 2
B1547516207. 3
61547516208, 4



Question Number : 28 Question Id : 6154754157 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAET TT5 T f9hi = A9 TG 6 20 ATTwa T

(1) =M (2) A
) T (4) = H T
Options:

B1547516209. 1
61547516210, 2
61547516211, 3
61547516212, 4

Question Number : 29 Question Id : 6154754158 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 ot 1 wiavm Fe e Fogz 1 g i g § sAtashag = un?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

515475162121
61547516214, 2
61547516215 3
E1547516821E6. 4

Question Number : 30 Question Id : 6154754159 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Fase, fyedh faf § =39 2001 ¥ 99 2007 F SO0 w69 TREZ wE R

(1) =] (2) THY
(3) SEW T (4) w=H U=
Options:

61547516217, 1
E15475162158. 2
E1547516219. 3
B1547516220. 4

Sub-Section Number: 3
Sub-Section Id: 615475187



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154754160 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

615475168221, 1
E1547516222 2
61547516223, 3
BE15475168224. 4

Question Number : 31 Question Id : 6154754160 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

BE1547516221. 1
B1547516222 2
E1547516223. 3
61547516224, 4

Question Number : 32 Question Id : 6154754161 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

B1547516225. 1
B1547516226. 2
B1547516227. 3
E1547516228. 4

Question Number : 32 Question Id : 6154754161 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3 = (4) ™
Options:

BE1547516225. 1
B1547516226. 2
B1547516227. 3
E1547516228. 4

Question Number : 33 Question Id : 6154754162 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements, choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547516229, 1
61547516230 2

61547516221, 3
61547516232, 4

Question Number : 33 Question Id : 6154754162 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =% (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3FI T=1 &, 74 (R). (A) Fi °&t == 74 2
(3) (A =E 2, g (R) &=t 75 =

) (AT T, F R TR E

Options:

61547516229, 1
61547516220 2
1547516221, 2
61547516222 4

Question Number : 34 Question Id : 6154754163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms is related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547516233, 1
61547516234 2
61547516235 2
61547516236 4

Question Number : 34 Question Id : 6154754163 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  s-TagEm

(2) - AEHE
Fhe
o

(3) 3-%
4 -3
Options:

E1547516233. 1
B1547516234. 2
61547516235, 3
G1547516236. 4

Question Number : 35 Question Id : 6154754164 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—View
(3) A-Tutor

(4) A-Tearner

Options:

61547516237, 1
61547516238 2
61547516239 2
1547516240 4

Question Number : 35 Question Id : 6154754164 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o=

@ T

3) TR
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Options:

E15475168237. 1



E1547516238. 2
B1547516235. 3
61547516240, 4

Question Number : 36 Question Id : 6154754165 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

515475162411
E1547516242 2
61547516242, 3
E1547516244. 4

Question Number : 36 Question Id : 6154754165 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 718 79, AeeEd 5§ R oty B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Hed
(¢) =AY

i

(d) -3 IMETE

FefeEy 8 w8 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

61547516241, 1
E1547516242 2
E1547516243. 3
B1547516244. 4

Question Number : 37 Question Id : 6154754166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547516245 1
E154751624E. 2
E1547516247. 3
E15475162458. 4

Question Number : 37 Question Id : 6154754166 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seaeT # 999H # Fefatad 7 B At |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

51547516245 1
61547516246, 2
E1547516247. 3
E15475162458. 4

Question Number : 38 Question Id : 6154754167 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (iv)
(4) (1) and (1v)

Options:
15475162459 1



E1547516250. 2
61547516251, 3
61547516252, 4

Question Number : 38 Question Id : 6154754167 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 Antaa & (SR o) #
(1) Y-, Al R a2adl arii-a= a3k
(1) U TR g i

=

(i) = TATH FEl THZ-TEF YIS Tl 1 39 TEEE | T A

(iv)  IHd A9gETg

FeAfefias foepel § 9 91 F9E oA
(1) (1) 31T (iD)
(2)  (il) ST (iii)
(3) (ii1) #1T (iv)
(4) (1) 3T Gv)
Options:
E1547E12249 1
61547516250, 2

BE1547516251. 3
B1547516252. 4

Question Number : 39 Question Id : 6154754168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
1547516252 1
E1547516254. 2
£15475168255 2
61547516256 4

Question Number : 39 Question Id : 6154754168 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TF TARY FFA 999 (7 fafee)
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fr=fafgn foweat 8 % 98 FuE =

(1) (). (i) 3R (i)
2) ([, () I (W)
(3) (i), (iii) W (v)

(4) (ii). (iv) T (v)

Options:

61547516253, 1
61547516254 2
61547516255 2
1547516256 4

Question Number : 40 Question Id : 6154754169 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

Y A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3)  gzdi fawm (4) oTE™ 3R wEd =
Options:

61547516257, 1
E1547516258. 2
E1547516259. 3
B1547516260. 4

Yes



Question Number : 40 Question Id : 6154754169 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o e wees oo et 27

(1) = =1 2 T FE
(3) g e (4) EE AT TR T
Options:

BE1547518257. 1
E1547516258. 2
61547516259, 3
B1547516260. 4

Question Number : 41 Question Id : 6154754170 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyayva Philosophy with Deductive — Inductive Process

Options:

61547516261, 1
61547516262 2
1547516262 2
1547516264 4

Question Number : 41 Question Id : 6154754170 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araies sone % e @ = g i

(1) g T U9 Y e AN O =9 o

(2)  TEvEE F YR W HEaH AT

(3)  ATE = A9 FOF I EAHEE F

(4) TP - AR TR Ay = 39 5 SAgE

Options:

61547516261, 1
1547516262 2
61547516262 5
61547516264, 4



Question Number : 42 Question Id : 6154754171 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching vision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

BE1547516265. 1
B1547516266. 2
G1547516267. 3
61547516268, 4

Question Number : 42 Question Id : 6154754171 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafofas 4 @ #0 vF wAfdeas 2fe TEE WA 2 S A ¥ W UEeTE S § 9 H geEeE 2an
237
(1) T©RAEART (2) A uH O AW 7S A
(3) TH I AW TF (4) =T T
Options:

61547516265, 1
E1547516266. 2
BE1547516267. 3
B1547516268. 4

Question Number : 43 Question Id : 6154754172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547516269, 1
61547516270 2
61547516271, 2
61547516272 4

Question Number : 43 Question Id : 6154754172 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547516269, 1
61547516270, 2
E1E47516271. 2
61547516272, 4

Question Number : 44 Question Id : 6154754173 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(imn) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i11) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

61547516273 1
61547516274, 2
BE15475168275. 3
B1547516276. 4

Question Number : 44 Question Id : 6154754173 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1) Q). (D) 7R @) (2) (i). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

BE1547516273. 1
B1547516274. 2
E1547516275. 3
61547516276, 4

Question Number : 45 Question Id : 6154754174 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes 1n the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (1) and (v)
(4) (1), (11) and (v)

Options:

61547516277, 1
61547516278 2
615475162793 2
61547516280 4



Question Number : 45 Question Id : 6154754174 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 21 = T= 4 F@ faem =9 9 weTeRs At (Suim) # metia e 1 Tmem Fifw

(1) 97 | Ag-a%

(i) = = IEqEEAT
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(iv)  fa=i= geem

(v)  =E A TEae & weE T T e
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(1) (@), (i) =W (vi)
@ (i), (v) 3R (v)
(3) (i), (iii) AR (iv)
@) (). ({) AT (v)

Options:

61547516277, 1
61547516278 2
61547516279 2
61547516250, 4

Sub-Section Number: 4
Sub-Section 1d: 615475188
Question Shuffling Allowed : Yes

Question Id : 6154754175 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalizsm

later.

Sub questions

Question Number : 46 Question Id : 6154754176 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
615475162511
61547516282 2
61547516253 2
1547516254, 4

Question Number : 47 Question Id : 6154754177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

61547516285, 1
61547516286, 2
E1547516287. 3
E1547516288. 4

Question Number : 48 Question Id : 6154754178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547516289, 1
61547516290 2
61547516291, 2
61547516292 4

Question Number : 49 Question Id : 6154754179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

615475168253, 1
61547516234, 2
61547516235 3
E15475168236. 4

Question Number : 50 Question Id : 6154754180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

B1547516297. 1
B15475162398. 2
61547516255, 3
61547516200, 4

Question Id : 6154754175 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154754176 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o a7 I 73 % AR AR % S gRT 9 TR BihT E 7

(1) SR G T TG 1 THTE 90
(2) A dw=Tes 9

(3) Sl % T2 32vE 9

(4) Hiad wEsar

Options:

61547516281, 1
61547516282 2
61547516282 2
1547516284 4

Question Number : 47 Question Id : 6154754177 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT AT

(1) HETSAETEA * g 9 (2) AT =HA F e 9
(3)  HEEE 3T A (4) THE-9g 9
Options:

BE1547516285. 1
BE1547516286. 2
B1547516287. 3
E1547516288. 4

Question Number : 48 Question Id : 6154754178 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FIwde & FIHR FF NZAIS HaHl gogr 74 917

() 96 IR 0 O S fe (2) AT s FEE
(3)  faaawar Fi == T
Options:

61547516289, 1
E1547516230. 2
E15475168231. 3
BE15475162392. 4

Question Number : 49 Question Id : 6154754179 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tg-Jd AHTE AREH 4,

(3)  m=AH A UgdR (4) THg THg 9 e am
Options:

615475168253, 1
61547516234, 2
61547516235 3
61547516236, 4

Question Number : 50 Question Id : 6154754180 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516297, 1
61547516298, 2
61547516299 2
1547516200 4
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Section Id : 61547558
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475189
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154754181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange 1n chronological order the following economists in relation to thenr contribution to
the Theorv of Consumer Behaviour. Choose the correct answer :
(1) A. Marshall. R. Stone. P. Samuelson. J.R. Hicks and R.G.D. Allen
(2) R. Stone. P. Samuelson, J.R. Hicks and R.G.D. Allen and A. Marshall
(3) P. Samuelson. J.R. Hicks and R.G.D. Allen. R. Stone. and A. Marshall
(4) A. Marshall. J.R. Hicks. R.G.D. Allen. P. Samuelson and R. Stone

Options:

61547516301, 1

61547516302, 2

1547516303 2

1547516204 4

Question Number : 51 Question Id : 6154754181 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4) U mEE, F.90, T a9 E. uee, df d@egesE, AW, =

Options:

61547516201, 1
615475162302 2
61547516203 2
615475163204 4

Question Number : 52 Question Id : 6154754182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Among normal cost curves which one of the following curve does not have a minimum point?

(1) Average cost (2) Marginal cost
(3) Average variable cost (4) Average fixed cost
Options:

61547516305, 1
E1547516206. 2
E1547516207. 3
51547516208, 4

Question Number : 52 Question Id : 6154754182 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT AF g5 B Htenad 3 | 9% § A e 6 2

(1)  =irEa = (2) == =
(3)  itEd =1 =rE (4) tEa fer = rm
Options:

61547516205, 1
61547516306, 2
E1547516207. 3
E1547516208. 4

Question Number : 53 Question Id : 6154754183 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The "Compensation Criterion’ which sayvs that state A 15 socially preferable to state B. if
those who gain from the change can compensate the loosers and vet end up with surplus
welfare gain 1s attributed to :

(1) W. Pareto (2) N. Kaldor
(3) T. Scitovsky (4) Bergson
Options:

E1547516209. 1
61547516210, 2
61547516211, 3
E154751631Z2. 4

Question Number : 53 Question Id : 6154754183 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) Tag Wit (2) U FEST
(3) 7. diraeh (4) ==EA
Options:

51547516209, 1
61547516210, 2
61547516311, 3
E1547516212. 4

Question Number : 54 Question Id : 6154754184 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In which of the following products. problem of adverse selection 1s encountered?

(1) Market of Insurance (2) Market for Credit
(3) Neither (1) nor (2) (4) Both (1) and (2)
Options:

15475162121
61547516314, 2
E1547516215. 3
B1547516216. 4

Question Number : 54 Question Id : 6154754184 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) A(D) AT (2) (4) 3A (1) 37 (2)
Options:

615475162131
61547516314, 2
61547516315, 3
E1547516216. 4

Question Number : 55 Question Id : 6154754185 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Given the saving function S =-20+0.2Y and autonomous investment (I) = Rs. 100 million.

the equilibrium level of consumption would be :

(1) 500 (2) 600
(3) 400 (4y 700
Options:

61547516317, 1
E15475162158. 2
E1547516219. 3
B1547516220. 4

Question Number : 55 Question Id : 6154754185 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fau 7o 599 Fed S =-20+0.2 Y 31T T FEw (1) = %.100 ffem= & 15 21 09/ &7 A w6

2

BOTT :
(1) 200 (2) 600
(3) 400 (4) 700
Options:

61547516317, 1
615475163158, 2
E15475162149. 3
BE1547516220. 4

Question Number : 56 Question Id : 6154754186 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For which of the following consumption function. the value of the income multiphier K =47

(1) C= 105 5Y (2) C=5H0+.8Y
(3) C=200+.75Y 4y C=50+.4Y
Options:

BE1547516221. 1
B1547516322 2
G1547516323. 3
E1547516324. 4

Question Number : 56 Question Id : 6154754186 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fafefiad 399r %= 9 31 T 1 e K =47 707

(1) C=100+.5Y (2) C=50+.28Y
(3) C=200+.75Y 4) C=50+4Y
Options:

61547516321, 1
E15475168322. 2
E1547516323. 3
BE15475162324. 4

Question Number : 57 Question Id : 6154754187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The inventory approach to the transaction demand suggests that the transaction component
of the demand for money 1s :

(1) negatively related to real wealth

(2) negatively related to real income

(3) negatively related to nominal income
(4) negatively related to interest rate
Options:

615475163251
61547516326, 2
E1547516327. 3
E1547516228. 4

Question Number : 57 Question Id : 6154754187 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-3 A % wia wE-g (30) % 9 geeE A  F ui o o e E
(1) TUTEN S £9 § ARiaS 9O O gard 2
(2) TS EY W aEAEasd o O Teiad 2
(3)  =UTeNE =9 d Hile® 319 ° TEid 2
(4)  FOTeHE B9 F = 20 H geiad 7
Options:
61547516325, 1
61547516326, 2

E1547516327. 3
61547516328, 4

Question Number : 58 Question Id : 6154754188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Friedman's modern Quantity Theory of Monev concludes that changes in ageregate spending
are primarily determined by changes 1n

(1) the money supply (2) 1nterest rate
(3) the velocity of money (4) government spending and taxes
Options:

5154751622591
61547516230, 2
61547516321, 3
61547516332, 4

Question Number : 58 Question Id : 6154754188 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FTSH F Hg1 o AR T g @ e femn 2 % mm =m 1 ufaa i fann et o
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Options:

61547516329, 1
E1547516230. 2
E1547516221. 2
61547516232, 4

Question Number : 59 Question Id : 6154754189 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



For an exactly identified equation. the order condition that should be fulfilled 1= that
equation must :

(1) Exclude one lezs than the total number of endogenous variables in the model
(2) Include one less than the total number of endogenous variables in the model
(3) Include only one of the endogenous variables in the model
(4) Exclude two or more endogenous variables

Options:

51547516233, 1
61547516324, 2
61547516335, 3
E1547516236. 4

Question Number : 59 Question Id : 6154754189 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475163331
6154751632324 2
61547516225 5
61547516326 4

Question Number : 60 Question Id : 6154754190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Analysis of variance 1s carried out by using :

(1) { —test (2) Z —test
(3)  y —test (4) F—test
Options:

61547516337, 1
E1547516832E. 2
E1547516239. 3
61547516240, 4

Question Number : 60 Question Id : 6154754190 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516337, 1
E15475162358. 2
E1547516239. 3
61547516240, 4

Question Number : 61 Question Id : 6154754191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Under Normal Probability Curve, the area within the range of # —1.96 ¢ and #+1.96 ¢

(where & = mean. ¢ = standard deviation) 1= :

(1) 90% (2) 95%
(3) 75% (4) 99%
Options:

E1547516341. 1
E1547516342. 2
E15475162343. 3
B1547516244. 4

Question Number : 61 Question Id : 6154754191 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HIT B9 9% o p#—196 o ey u+1.96 ¢ % = l‘sl?ﬁ"r o= H1ET A o = OFF 99 ?1

(1) 90 Tfa=TA (2) 95 TideE
(3) 75 Tfeer (4) 99 TiavE
Options:

515475162411
61547516342 2
61547516342, 3
E1547516344. 4

Question Number : 62 Question Id : 6154754192 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Boot strapping technique 1s used to :

(1) test for specification bias
(2) obtain sampling distribution of parameters of interest
(3) test for auto-correlation
(4) test for normality of error term
Options:

B1547516245. 1
615475162346, 2
61547516347, 3
615475163458, 4

Question Number : 62 Question Id : 6154754192 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘gz w9 aFAE 1 e o 3o e S #
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Options:

61547516245, 1
61547516346 2
61547516347, 2
61547516348 4

Question Number : 63 Question Id : 6154754193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E15475162345. 1
E1547516250. 2
51547516251, 3
615475162352, 4

Question Number : 63 Question Id : 6154754193 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547516249, 1
615475163250 2
1547516251 2
61547516352, 4

Question Number : 64 Question Id : 6154754194 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Harrod’'s growth model is given as under

S; =a¥, O<ax<l
[Y.t_}?—}.] b>0

2 s o 2 e
(b—a) (b—a)
(3) = > (4) e <0
h—a b—a
Options:

E1547516353. 1
E1547516254. 2
615475162355, 3
61547516356, 4

Question Number : 64 Question Id : 6154754194 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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o=k

b b
(1) M~ - ¥ — =0
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a a
3 =0 4 <0
) b—a ©® b—a
Options:

E1547516253. 1
61547516254, 2
61547516355, 3
E1547516356. 4

Question Number : 65 Question Id : 6154754195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

: : ; 1 5
The total cost function of a firm 1s Czﬁqg—BQ‘+50q+300 where C = total cost

q = output. Marginal cost at g =10 1s :

(1) 20 (2) 10
(3) 30 (4) 50
Options:

515475168357, 1
61547516358, 2
61547516359, 3
E1547516360. 4

Question Number : 65 Question Id : 6154754195 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T B
C=—gq" —3g +50g + 300
l[]G q g

5 € === =i, g = fe

q = 10 T =HmEE =E F= w5

(1) 20 (2) 10
(3) 30 (4) 50
Options:

5154751682357, 1
61547516358, 2
61547516359, 3
61547516360, 4

Question Number : 66 Question Id : 6154754196 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
For a Cobb-Douglas production function @ =100 L*"K%* Which of the following is not true?

(1) It 15 Linear Homogenous function

(2) It 1s characterized by constant returns to scale

(3) It 1z having zero elasticity of factor substitution
(4) It 1= characterized by unit elasticity of substitution
Options:

1547516361, 1
61547516362, 2
E1547516363. 3
E1547516264. 4

Question Number : 66 Question Id : 6154754196 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547516361, 1



E1547516362. 2
B1547516363. 3
51547516264, 4

Question Number : 67 Question Id : 6154754197 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If in a given situation, P, =170, P, =190 and Z,  =152. then which of the following will be

the value of Single Factoral Terms of Trade (T%) :

(1) 136 (2) 148
(3) =24 (4) 116
Options:

51547516265, 1
E1547516366. 2
E1547516367. 3
E1547516365. 4

Question Number : 67 Question Id : 6154754197 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
afs & 7% vk ufifEafa & P, =170, P, =190 st Z, =152 # & =4mw i whel F0hE 96 5 ge
(T:) TA=icaiiga 9 & =41 =0

(1) 136 (2) 148
(3) 84 (4) 116
Options:

E1547516365. 1
B1547516366. 2
B1547516367. 3
61547516368, 4

Question Number : 68 Question Id : 6154754198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which trade policy rezults in the government levving both a specific tariff and an advalorem

-

tariff on imported goods?

(1) Effective tariff (2) Revenue tariff
(3) Compound tariff (4) Nominal tarff
Options:

E154751636%9. 1
B1547516270. 2
61547516271, 3
E1547516372. 4

Question Number : 68 Question Id : 6154754198 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

E1547516369. 1
61547516370, 2
E15475168371. 3
B15475162372. 4

Question Number : 69 Question Id : 6154754199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Heckscher-Ohlin trade model maintains that :

(1) Comparative advantage determines the distribution of the gains from trade
(2) A country exports goods for which its resource endowments are most suited
(3) Absolute Advantage Theory determines the distribution of the gains from trade
(4) The division of labour 1= limited by the size of the world market
Options:

615475163731
61547516374, 2
E1547516375. 3
B15475162376. 4

Question Number : 69 Question Id : 6154754199 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

15475163731
1547516274 2
615475162375,
61547516376 4

Question Number : 70 Question Id : 6154754200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A tax of Rs. 20 per unit of imported cheese would be an example of a/an :

(1) Compound tariff (2) Specific tanff
(3) Effective tariff (4) Advalorem tariff
Options:

B15475162377. 1
B15475162378. 2
B15475162375. 3
61547516380, 4

Question Number : 70 Question Id : 6154754200 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

AP T = Uld $961E 9 20 F9C = A S8 E

(1) =1 T (2 fafr= o
(3)  T9HE WEE (4) TZEERE TEEE
Options:

E15475168377. 1
E1547516278. 2
B15475162375. 3
61547516280, 4

Question Number : 71 Question Id : 6154754201 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1= an example of a positive externality?

(1) Public immunizations

(2) Increase of corporate taxes

(3) Izssuing extra permits for pollutions

(4) Monitoring the hazards caused by industries
Options:

E1547516281. 1
B1547516238%. 2
E1547516383. 3
61547516354, 4

Question Number : 71 Question Id : 6154754201 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-4

feAfaiad 5 | e FFReH STEdl T I

(1)  =E=HF T (2) =HHURZ F Y Fhg
Options:

E1547516281. 1
B15475162382. 2
B1547516383. 3
61547516384, 4

Question Number : 72 Question Id : 6154754202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which amongst the following market form leads to most efficient allocation of resources?

(1) Monopohistic Competition (2) Monopoly
(3) Oligopoly (4) Perfect Competition
Options:

61547516385, 1
E1547516386. 2
E1547516387. 3
BE1547516288. 4

Question Number : 72 Question Id : 6154754202 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(4)  orafaEiRTET
Options:
615475163851
15475168386 2
61547516387, 2
61547516388, 4

Question Number : 73 Question Id : 6154754203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Incidence of tax refers to :

(1) Whether a tax 1s progressive. proportional or regressive
(2) An authority which collects the tax

(3) The person or group who ultimately pays the tax

(4) How a tax 1s collected?

Options:

61547516359, 1
61547516330, 2
E15475163391. 3
E154751623392. 4

Question Number : 73 Question Id : 6154754203 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) = I, ATiaE e e E

(2) T TUE I T O
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Options:

615475162389, 1
61547516290 2
1547516291 2
1547516292, 4

Question Number : 74 Question Id : 6154754204 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Displacement effect’ in the Peacock-Wiseman Hypothesis imples :

(1) An upward displacement of public expenditure according to higher economic growth

(2) The movement from older level of public expenditure and taxation to a newer and
higher level

(3) Public expenditure increases at steady rate and reaches higher level

(4) Government undertakes more and newer activities and hence public expenditure
rizes steeply upwards

Options:
61547516293, 1
615475162394 2



E15475163395. 3
B154751623396. 4

Question Number : 74 Question Id : 6154754204 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
£154751635493 1

E15475163394. 2
E154751623395. 3
B154751623396. 4

Question Number : 75 Question Id : 6154754205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s correct for the money supply measure — Mi1?

(1) Currency with the public + demand deposits of Commercial Banks + other deposits at

a point of time

(2) Currency with the public + demand deposits of Banks + other deposits over one vear

(3) Currency with the pubhic + All bank deposits at a point of time

(4) Currency with the public + Post office deposits + other deposits at a point of time
Options:

61547516397, 1
6154751633958, 2
E15475163599. 3
E1547516400. 4

Question Number : 75 Question Id : 6154754205 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516397, 1
615475163298 2
61547516299, 5
61547516400 4

Question Number : 76 Question Id : 6154754206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which amongst the following 1s not the source of the income of RBI?

(1) Interest on government bonds held for conducting open market operations
(2) Income from investment in foreign currency assets
(3) Retained earnings net of dividend paid to Government of India

(4) Dividend on the shares of private equity held with the bank

Options:

61547516401, 1
61547516402, 2
61547516402 5
61547516404, 4

Question Number : 76 Question Id : 6154754206 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Tfefas # & ®F-91 vF YEdE fiTd 99 (90 o1 37E) FT A9 F F@h A5 2 7
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Options:
61547516401 1
E1547516402 2
BE1547516403 =
61547516404 4



Question Number : 77 Question Id : 6154754207 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Insolvency and bankruptcy code 1s primarily entrusted with which of the following?

(1) Facilitating the recovery of government dues and debt

(2) Facilitating recovery of debt given by foreign banks to Indian companies

(3) Facilitating banks recover higher amount of bad loans then thev recovered earlier
(4) Facilitating banks recover their dues from the priority sector

Options:

B1547516405. 1
E1547516406. 2
61547516407, 3
E1547516408. 4

Question Number : 77 Question Id : 6154754207 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547516405, 1

E1547516406. 2
B1547516407. 3
51547516408, 4

Question Number : 78 Question Id : 6154754208 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

When the market rate of interest falls. which one of the following will happen?

(1) Bond price and bond vield. both will rize
(2) Bond price and bond yield both will fall

(3) Bond price will rise and bond vield will fall
(4) Bond price will fall and bond vield will rise

Options:



E154751640%3. 1
61547516410 2
61547516411, =
61547516412 4

Question Number : 78 Question Id : 6154754208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
H =TH ] ATAN 21 4 A Bl 7 Al a5 O o= w5

(1) =4 vd (a73) ged a0 59 9 (A1) wiawa 2= & 9fg 20
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Options:

51547516409, 1
61547516410 2
61547516411, 2
1547516412 4

Question Number : 79 Question Id : 6154754209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The elasticity of substitution (&) of the production function which admits of both Hicks and

Harrod neutral technical progress would be :

(1) o =10 2y o=t
(3) T =ab (4) O<o<«l
Options:

E1547516412. 1
61547516414, 2
E1547516415 3
B1547516416. 4

Question Number : 79 Question Id : 6154754209 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TeFa A9 275 =1 9257 qFATR TH ] TR 4 9T I0E B % IR (o) ) SrEstiEa 2

(1) o=10 N a=1
(3) oo (4) D<eo<l
Options:

515475164121
61547516414, 2



E1547516415 3
B1547516416. 4

Question Number : 80 Question Id : 6154754210 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In which of the following models ‘knife-edge’ problem occur?

(1) Kaldor (2) BSolow
(3) Harrod (4) Swan
Options:

615475164171
615475164158, 2
61547516419, 3
E1547516420. 4

Question Number : 80 Question Id : 6154754210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) EGE (2) ATl
(3) =S (4) =M
Options:

E1547516417. 1
B15475164158. 2
61547516415 3
61547516420, 4

Question Number : 81 Question Id : 6154754211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider an economy with a linear homogeneous Cobb-Douglas production funection with
two 1nputs-capital and labour. The share of capital and labour are. respectively. 1/3 and 2/3.
The rates of growth of capital and labour are. respectively 6% and 3% per annum, If the rate
of growth of output 1s 6% per annum. what is the rate of growth of output due to Total
Factor Productivity (TFP)?

(1) 1% (2) 2%
(3) 3% (4) 4%
Options:

BE1547516421. 1
B1547516422 2
61547516423 3
61547516424, 4

Question Number : 81 Question Id : 6154754211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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L 1% @ 2%
(3) 3% (4) 4%
Options:

615475164211
B1547516422 2
E1547516423. 3
61547516424, 4

Question Number : 82 Question Id : 6154754212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who 1= the author of the book ‘Freedom as Development™?

(1) Gunnar Myrdal (2) F.A. Von Havek
(3) Amartyva Sen (4) Paul A. Samuelson
Options:

515475164251
61547516426 2
61547516427, 3
E1547516425. 4

Question Number : 82 Question Id : 6154754212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

515475164251
61547516426 2
61547516427, 3
E1547516425. 4

Question Number : 83 Question Id : 6154754213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s not an example of ‘'market failure™

(1) Monopolies (2) Asymmetric information

(3) Economies of scale (4) Externalities



Options:

61547516429, 1
61547516420 2
1547516421 =2
61547516422, 4

Question Number : 83 Question Id : 6154754213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  wFaFR (2) wEArE g=
(3) il i THa=I=T (SHAWIS 3F Thel) (4)  wEEdn

Options:

61547516429, 1
E1547516420 2
61547516421, 5
61547516422 4

Question Number : 84 Question Id : 6154754214 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 15 not a feature of the contingent valuation method?

(1) It 1s an economic non-market based valuation method

(2) It 1s based on the maximum willingness to pay by the consumers
(3) It 15 used only in case of awr pollution

(4) It 15 used under the condition of market failure

Options:

515475164331
61547516424, 2
61547516435, 3
E1547516436. 4

Question Number : 84 Question Id : 6154754214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547516433, 1



E1547516424. 2
51547516435 3
51547516436, 4

Question Number : 85 Question Id : 6154754215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The phenomenon of ‘"demographic dividend 1s related to which of the following?

(1) An 1increase 1n the zex ratio

(2) An 1ncrease 1n the share of female population

(3) A decline 1n the TFR

(4) An increase 1n the share of working age population
Options:

15475164371

£1547516438. 2

E1547516439. 3
B1547516440. 4

Question Number : 85 Question Id : 6154754215 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516437, 1
61547516438, 2
E1547516439. 3
E1547516440. 4

Question Number : 86 Question Id : 6154754216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following 1s not associated with the Optimum Theory of Population?

(1) T.R. Malthus {(2) H. Dalton
{(3) E. Cannon {(4) Carr-Saunders
Options:

615475164411
61547516442 2
61547516442 3
E1547516444. 4

Question Number : 86 Question Id : 6154754216 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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Options:

E1547516441. 1
E1547516442 2
61547516443 3
51547516444, 4

Question Number : 87 Question Id : 6154754217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which amongst the following 1s the function of SEBI?

(1) Eegulation of money market

(2) Regulation of public debt

(3) Regulation of commodity market
(4) Regulation of primary and secondary security market
Options:

£1547516445. 1
E154751644E. 2
E1547516447. 3
E1547516448. 4

Question Number : 87 Question Id : 6154754217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
#eft 1 Freferfiam A @ i A 27
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Options:

61547516445 1
61547516448, 2
E1547516447. 3
E1547516445. 4

Question Number : 88 Question Id : 6154754218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Under which article of the Constitution of India. President 1s empowered to appoint the

Finance Commission?

(1) 279 (2) 280
(3) 281 (4) 282
Options:

E1547516445. 1
E1547516450. 2
51547516451, 3
61547516452, 4

Question Number : 88 Question Id : 6154754218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 279 (2) 280
(3) 281 (4) 282
Options:

51547516445 1
61547516450, 2
61547516451, 3
61547516452, 4

Question Number : 89 Question Id : 6154754219 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the method not being used for unemployment estimation by the NSSO of India.

(1) Current monthly status (2) Current daily Status
(3) Current weekly status (4) Usual principal and subsidiary status
Options:

E1547516453. 1
B1547516454. 2
51547516455 3
61547516456, 4

Question Number : 89 Question Id : 6154754219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A % U, 0H,TH. 31, g1 S F AAE F 0 e TR S At i vemm i

(1)  Faam "rfa =i (2) =aEE 2w feafq
(3)  =HHE TTHIEF At (4) I g IR gEEE Tl
Options:

E1547516453. 1



E1547516454. 2
51547516455 3
61547516456, 4

Question Number : 90 Question Id : 6154754220 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Which one of the following statements 1s not correct for the textile sector 1n India?

(1) India’s textile and clothing sector currently emplovs 35 million people
(2) After agriculture. 1t 1s second largest provider of employment

(3) Textile sector has a tendency to shrink as the GDP and economy grow
(4) Textile sector 1s a major absorber of low skilled labour

Options:

61547516457, 1
61547516458, 2
E1547516459. 3
E1547516460. 4

Question Number : 90 Question Id : 6154754220 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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Options:

61547516457, 1
1547516458 2
E1547516459 =2
61547516460, 4

Question Number : 91 Question Id : 6154754221 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Yes

Yes

Yes



Choose the correct option for which the allocation of inputs 1s technically efficient?

(a) Output of one good can not be decreased without increasing the output of the other
oood
(b) Consumption of one good can not be increased without decreasing the consumption of

another good

(c) Consumer attains maximum satisfaction
Options :

(1) (b) only

(2) (a) only

(3 Both (a) and (¢)

(4) Both (b) and (c)

Options:

1547516461, 1
61547516462 2
61547516463 =
61547516464 4

Question Number : 91 Question Id : 6154754221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547516461, 1
61547516462 2
1547516463 2
61547516464, 4

Question Number : 92 Question Id : 6154754222 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Consider the following statements :

(I) Preferring of a certain income to a risky income with the same level of expected value

lead to a risk averse behaviour

(IT) Being indifferent between a certain income and uncertain income with the same level

of expected value leads to risk averse behaviour

Which of the above statement 1s/are true? Choose the correct option given below :

(1) Both (I) and (IT) are true
(2) Neither (I) nor (II) 1 true
(3) Only (I) 1= true

(4) Only (IT) 1s true
Options:

1547516485 1
61547516466 2
1547516467 2
1547516465 4

Question Number : 92 Question Id : 6154754222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

1547516465, 1
61547516466 2
61547516467, 2
61547516468 4

Question Number : 93 Question Id : 6154754223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Autonomous investment could be attributed to :

{a) Level of technology
(b) Expectation

(c) Level of national income

Choosze the correct option :

(1) {a) and (c) only
(2) (b) and (c) only
(3) {a) and (b) only

(4) {a). (b) and (c)

Options:
61547516489 1



E1547516470. 2
61547516471, 3
61547516472 4

Question Number : 93 Question Id : 6154754223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(3)  =Had (a) 311 (b)

(4) (a). (b) 3 (c)
Options:
£1547516469. 1
61547516470, 2
61547516471, 3
£1547516472. 4

Question Number : 94 Question Id : 6154754224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Under which of the following approaches Philhps Curve Analvsis holds good?

(a) Adaptive expectation

(h) Rational expectation

Choose the correct option :

(1) Only (a)
(2) Only (b)
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
15475164721
61547516474, 2

61547516475 3
51547516476, 4

Question Number : 94 Question Id : 6154754224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
61547516473, 1



E1547516474. 2
61547516475 3
51547516476, 4

Question Number : 95 Question Id : 6154754225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Three statement are given as under :

(a) Generalizsed Least Square (GLS) method iz capable of providing BLUE 1n situations
where OLS fails

ib) GLS 1z OLS on the transformed variables that satisfv the standard least squares

assumptions

(c) GLS method 1s suitable for dealing with multicollinearity problem

Choose the correct option :

(1) (a) and (b) are correct but (e) i1s not correct
(2) (a) and (c) are correct but (b) 1s not correct
(3) (a) 1z correct but (b) and (¢) are not correct
(4) {a) 12 not correct but (b) and (c) are correct
Options:

61547516477, 1
61547516478, 2
E15475168473. 3
E1547516480. 4

Question Number : 95 Question Id : 6154754225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e dF Y fau T E

(a) STSEATE @ ThaTH (S UH UH) 9igf FE o1 S U e A 2 39 A 6 o (1 1E g
Z) IucTEd qfliﬂ‘—!r 4 ° Tay Bt 2

.

(b) S U UH il =9 W A UH UH B W T2Ss wie Thagd i UiweT H HqE HAl E |

= R et -,

(¢) = U UH qigh F1 O % THEE F 60 39T 2

(1) (a) AT (b) TR 7 37 (c) 7al 74 =
(2)  (a) T (c) WA & W (b) HAT F 7
(3)  (a) T R 30 (b) T () FA 7 2

4) () T=E 7 HAW (b) 99T (c) TRl 7

Options:

61547516477 1
61547516478 2
61547516479 2
61547516450 4

Question Number : 96 Question Id : 6154754226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Which of the following statements are true concerning a triangular or recursive system?

(a) The parameters can be validly estimated using separate applications of OLS to each
equation

(b) The independent variables may be correlated with the error terms in other equation

(c) An application of two-stage least squares would lead to unbiased but inefficient

parameter estimation

(d) The independent variables may be correlated with the error terms in the equation in

which thev appear as independent variables

Choose the correct option :

(1) (a) and (d) only
(2) (a) and (c) only
(3) (a). (b) and (c) only

(4) {a). (b). (¢} and (d)
Options:
615475164511
61547516482 2
615475164583 3
61547516454 4

Question Number : 96 Question Id : 6154754226 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516451, 1
61547516482, 2
61547516482 o
61547516454 4

Question Number : 97 Question Id : 6154754227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Two series are given as under

s A
(a) l-—+———+———+..... upto =
2 .4 8 15 32
L 1 1
(b) e U [ e B T S
V2 2 242

Choose the correct option :

(1) (a) 12 convergent while (b) 13 divergent series
(2) Both (a) and (b) are convergent series

(3) (a) 18 divergent while (b) 1s convergent series
(4) None of (a) and (b) are convergent

Options:

£1547516485. 1
61547516456, 2
E1547516457. 3
E1547516488. 4

Question Number : 97 Question Id : 6154754227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

51547516485, 1
61547516486 2
1547516487, 2
61547516488, 4

Question Number : 98 Question Id : 6154754228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Linear Programming each problem (called primal) has a dual. About duality in Linear

Programming following statements are given :

(a) If a Linear Programming problem 1s maximizing type. then its dual 18 minimizing
tyvpe

(h) Both primal and dual have same optimum value

(c) Dual of dual of a linear programming problem is primal problem

(d) If maximizing linear programming problem 1s with “less than” tvpe constraints. the

dual of this problem will have “more than” tvpe constraints

Choose from the following options :

(1) Only (a) and (b) are correct
(2) Only (¢) and (d) are correct
(3) {a). (b) and (c) are correct

(4) All (a). (b). (c). (d) are correct

Options:

1547516489, 1
61547516490, 2
61547516491, 5
61547516492 4

Question Number : 98 Question Id : 6154754228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547516459 1
61547516430 2
61547516491 =
615475168492 4

Question Number : 99 Question Id : 6154754229 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



For o1l importing countries. the increase 1n o1l prices in 1970's and mid 2000 contributed to
which of the following :

(a) Improving terms of trade

(h) Balance of trade deficits

(c) Price inflation

(d) Constrained economic growth

Choose the correct answer from the codes given below :

(1) (a). (b) and (c) only
(2) (b}, (c) and (d) only
(3) (c). (d) and (a) only

(4) (a) and (d) only
Options:

615475164921
61547516494 2
61547516435 3
61547516496, 4

Question Number : 99 Question Id : 6154754229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fad (a). (b) 791 (c)
(2) = (b). (¢) 79 (d)
(3) A (c). (d) 797 (a)

(4)  Fad (a) 79 (d)

Options:
615475164593 1

E1547516454. 2
E1547516435. 3
515475164356, 4

Question Number : 100 Question Id ;: 6154754230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Consider the following statements :
(a) India’s Trade Policy Review (TPR) 1s carried out every four years

(h) WTO has a mechanism for regular review of the trade policies of member countries

Which of the statementis) given above 1s/are correct?

(1) Only (a)

(2) Only (b)

(3 Both (a) and (b)
(4) Neither (a) nor (b)

Options:
61547516497, 1
61547516498 2



E15475164395. 3
61547516500, 4

Question Number : 100 Question Id : 6154754230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
15475164971

E15475164395. 2
B15475164593. 3
61547516500, 4

Question Number : 101 Question 1d : 6154754231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

On which date and vear GST became effective in India?

(1) 1=t April, 2017 (2) 1= January. 2017
(3) 15t Julv. 2017 (4) 1=t March. 2018
Options:

61547516501, 1
61547516502, 2
E15475168503. 3
E1547516504. 4

Question Number : 101 Question Id : 6154754231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516501, 1
61547516502 2
1547516502 2
61547516504, 4

Question Number : 102 Question Id : 6154754232 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The whole burden of a tax will be borne by the consumer if

(1) The demand for commodity 1s perfectly elastic and supply 1s perfectly inelastic

(2) The elasticity of demand for a commeodity 1s same as the elasticity of supply of the
commodity

(3) The demand for a commodity is inelastic and supply 1z perfectly elastic

(4) The elasticity of demand for a commodity 1s less than the elasticity of supply of that
commodity

Options:

E1547516505. 1
61547516506, 2
61547516507, 3
61547516508, 4

Question Number : 102 Question Id : 6154754232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516505, 1
61547516506 2
61547516507, 2
61547516508, 4

Question Number : 103 Question 1d : 6154754233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The elements ziven below are some of the parts of the My Monev supply in Indian Economy :

(a) Broad Money (Mas)
(b) All deposits with post office saving banks

{c) National saving certificates

Select the most appropriate option which constitutes My :

(1) only (a) and (b)
(2) only (b) and (c)
(3) only (a) and (c)

(4) (a). (b) and (¢)

Options:

61547516509, 1
61547516510 2
61547516511, =
1547516512 4

Question Number : 103 Question 1d : 6154754233 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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(4)  (a). (b) 3 (c)
Options:

61547516509 1
E1547518510. 2
E154¥5168511. =2
61547516512 4

Question Number : 104 Question Id ;: 6154754234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following are the main pillars of the BASEL III norms?

(a) Minimal Capital Requirements
(b) Supervizory Review Process
(c) Market Dizcipline

(d) Maximizing Return on Capital

Choose from the options given below :

(1) (a). (b) and (c) only
(2) (a) and (d) only
(3) (b) and (c) only

(4) (b). (c) and (d) only

Options:

61547516513, 1
61547516514 2
61547516515 =
61547516516, 4

Question Number : 104 Question 1d : 6154754234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475165131
61547516514 2
1547516515 2
61547516516, 4

Question Number : 105 Question Id : 6154754235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Kaldor's growth model incorporates some of the following assumptions :

(a) Total savings include savings out of wages and savings out of profits

(b) Marginal propensity to save out of wages iz equal to the marginal propensity to save

out of profits
(c) Output consists of wages and profits

(d) There 1z less than full emplovment

Choose the correct option :

(1) {a) and (b)
(2) {(b) and (c)
(3) (e) and (d)

(4) (a) and (c)
Options:
615475165171
61547516518, 2
615475165149 2
61547516520, 4

Question Number : 105 Question Id : 6154754235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

1547516517, 1
61547516518, 2
61547516519 2
61547516520 4

Question Number : 106 Question 1d : 6154754236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following economists are associated with the ‘Balanced Growth’ doctrine?

(a) W.A. Lewis
(b) H.W. Singer
(c) E. Nel=on

(d) Ragnar Nurkse

Choose the correct option :

(1) (a) and (d)
(2) (c) and (d)
(3) (a) and (b)

(4) {(b) and (c)



Options:

61547516521, 1
61547516522 2
1547516522 2
61547516524, 4

Question Number : 106 Question Id : 6154754236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  (a) 3 (b)

4 () (o)
Options:
615475165211
61547516522 2
61547516522, 3
61547516524 4

Question Number : 107 Question Id : 6154754237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements about the social cost-benefit analysis for wability of
projects. Which of the following are true for this analysis?

(a) IRR should be greater than Social Discount Rate

(b) NPV should be equal to zero

(c) Shadow prices are used for calculation of benefits and costs

Choose the most approprate option for those given below :

(1) (a) and (c)
(2) (a) and (b}
(3) (b) and (c)

(4) (a) only

Options:

61547516525, 1
61547516526 2
61547516527, 2
61547516528 4

Question Number : 107 Question Id : 6154754237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516525, 1
61547516526 2
E1547516527. 2
61547516528, 4

Question Number : 108 Question Id : 6154754238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Consider the following statements about the correct order of the stages of demographic
transition assoclated with economic development :

(a) Low birth rate with low death rate

(b) High birth rate with high death rate

(c) High birth rate with low death rate

Choose the correct option :

(1) (b). (c). (a)
(2) (c). (b). (a)
(3) (a). (b). (c)

(4) {c). (a). (b)

Options:

£1547516529. 1
61547516520, 2
61547516521,
61547516532 4

Question Number : 108 Question Id : 6154754238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516529, 1
61547516530 2
61547516531, 2
15475165322 4

Question Number : 109 Question 1d : 6154754239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following institutions 1s related with the Green/Blue Box Subsidies?

(a) United Nations
(b) World Bank
(c) World Tourism Organization

(d) World Trade Organization

Choose the correct option from those given below :

(1) (a) and (d)

(2) (b) and (d)

(3) Onlv (d)
(4) Only (b)
Options:

BE1547516533. 1
61547516534, 2
61547516535 3



E1547516536. 4

Question Number : 109 Question Id : 6154754239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) T4 (d)
(2) (b)) T494T (d)
(3) FaA(d)

(4) Fa-(h)

Options:
£1547516553. 1

E1547516534. 2
51547516535, 3
51547516536, 4

Question Number : 110 Question 1d : 6154754240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements :

(a) The main objective of the National Agricultural Insurance Scheme (NAIS) 1s to
protect the farmers against losses suffered by them due to crop failure on account of

national calamities

{b) The National Agricultural Insurance Scheme (NAIS) 1= available to all the farmers

both loanee and non-loanee irrespective of their size of holding

Which of the statements given above 1s/are correct?

(1) Only (a)

(2) Only (b)

(3) Both (a) and (b)
(4) Neither (a) nor (b)

Options:

61547516537, 1
15475165328 2
1547516529 2
61547516540, 4

Question Number : 110 Question Id : 6154754240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Fefafad A W fa=an

(a)  TEE FHIY SAE AEE (W T AR TH) FGET 3274 Whia® AIGH] & R FHA @0 7 9 g
(b)  TEE FN & I (T T AR vH) Tl FeEn Ud e 3H1 AT H1 3] 91 e

20 fsH1 39T 2

ITF 150 T FUE H :E-A1/8 #5987

(1)  =Fad (a)
(2) Fa (h)
(3) (a) AT (b) 2T

(4) (a) 74T (b) H FiE T8



Options:

61547516537, 1
15475165328 2
1547516529 2
61547516540, 4

Question Number : 111 Question Id : 6154754241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List A and List B and choose the correct answer from the code given below :

List A List B
(a) Quas=1Rent (1)  A.P. Lerner
(b) Planned Sales Curve (1) P.A. Samuelson
(c) Monopoly Power (m) A. Marshall
(d) Strong Ordering of Preferences (1v) F.Chamberln
Options :
(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(Q11). (c)-(1). (d)-(11)
(4) (a)-(111). (b)-(1). (e)-(1v). (d)-(11)
Options:

51547516541, 1
61547516542 2
61547516543, 3
E1547516544. 4

Question Number : 111 Question Id : 6154754241 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g1 % g=-11 8 gifea Fifae i = v e F § 4 o8 33 gfo .

11 LI

(@) SATH AFH (FE ) @ . =

(b) TTEZ TEA = (i) 1.0, TR

(c) TRIEhE ITh (i) T TS

(d) ATTEET =T HEA FH (iv) TF, I
a5 :

(1) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(2) (a)-(112). (h)-(1w). ()-(11). (d)-(1)
(3) (a)-(1v). (b)-(111). (c)-(1). (d)-(11)
(4) (a)-(111). (b)-(1). (c)-(1v). (d)-(11)

Options:

61547516541, 1
61547516542 2
61547516543 =
61547516544 4

Question Number : 112 Question 1d : 6154754242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following :

(a) Marginalist Revolution (1} Samuelson

(b)y  Multiplier-Accelerator model (11) J.R. Hicks

(c) IS-LM curves (1) Jevous

(d) Real Business Cycle (1v) Robert J. Borro

Choose the correct option from those given below :

(1) (a)-(111). (b)-(1). (e)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)
(3) (a)-(111). (b)-(11). (e)-(1v). (d)-(1)

(4) (a)-(1). (b)-(1v). (c)-(11). (d)-(11)
Options:

61547516545, 1

61547516546, 2

61547516547, 3

61547516548, 4

Question Number : 112 Question Id ;: 6154754242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(a) HEMEETE] A (1)  THIAAEA

(b) T T HiSH (i) .3

(c) 3TE.UH.-UHA.UH.TF (iil) “aH

(d) drAEF A9E T (iv) TiEe 9. =0
I fou o T 4 wd fawes 9w

(1) (a)-(u1). (b)-(1). (e)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
(3) {(a)-(111). (b)-(11). (c)-(1v). (d)-(1)
(4) (a)-(1). (b)-(v), (c)-(111). (d)-(11)

Options:



E1547516545. 1
B154751654E. 2
61547516547, 3
61547516548, 4

Question Number : 113 Question Id : 6154754243 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Match the tests with their purpose given below :

(a) Dickey-Fuller Test (1)

(b) Box-Jenkins Method (11)
(c) Glejser Test (111)
(d) Granger Test (1v)

Choose the correct option from those given below :

(1) (a)-(111). (b)-(1). (c)-(i1). (d)-(1v)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(111)
(3) (a)-(1v). (b}-(111). (e)-(1). (d)-(11)
(4) (a)-(1). (b)-(i1). (c)-(111). (d)-(1V)
Options:

E1547516549. 1
61547516550, 2
E1547516551. 3
B1547516552. 4

Heterosedasticity
Causality
Forecasting

Stationarity

Yes

Question Number : 113 Question Id ;: 6154754243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



= 150 70 90 1 3% T H GHiAd HIET

(a) TEHI-Fol Ty (1)

(b) FigE-A=F4 fafg (i1) =TT

(¢)  TelaIET qEem (iil) FEHHAH

(d) TR T (iv) Teemar
:ﬁ?\l ﬁ:r{ :'TE{ ﬁ ;:-'i HE?I ‘;1:11;;4 a._,- :_‘!EJ\ 1

(1) (a)-(111). (b)-(1). (c)-(11), (d)-(1v)
(2) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
(3) (a)-(v), (b)-(111). (e)-(1). (d)-(11)
(4) (a)-(1). (b)-(11). (c)-(111), (d)-(1v)

Options:

61547516549, 1
61547516550 2
1547516551 =2
61547516552, 4

Question Number : 114 Question Id : 6154754244 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Match the Economists with their field of contribution in Mathematical Economics :

(a) Slutsky (1)  Linear Programming

(b)  Arrow (1) Input-output analvsis

(c) Leontief (111) Consumer behaviour analysis
(d) Dantzig (1iv) CES Production Function

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
(2) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(3) (a)-(1). (b)-(11). (e)-(1v). (d)-(111)

(4) (a)-(1v). (b)-(1). (c)-(111), (d)-(11)

Yes



Options:

61547516553, 1
1547516554 2
E1547516555 =2
61547516556, 4

Question Number : 114 Question Id : 6154754244 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

i E F :_j:r_#r" 1: m;' as[ i _Tl_-lﬁ‘ ngrm 'jl-:[ Jil HE %E E:q_;_[ ﬁ E‘j‘:ﬁ;—,-l:[ TJﬁh‘r{ .
(a) T (1) g g
(b) T (i) - Ay
(c) Teriie® (i) ITHTR =EER favemm
(dy ETAra (iv) 200, 399 e
Ji= 20 U 4 4 od fawed 9HT

(1) (a)-(11), (b)-(1v). (c)-(1). (d)-(a11)
(2) (a)-(11). (b)-(av). (e)-(11). (d)-(1)
(3) (a)-(1). (b)-(11). (c)-(1v). (d)-(111)
(4) (a)-(1v). (b)-(1). (¢)-(111). (d)-(11)

Options:

15475165531
E15475168554 2
61547516555, 5
61547516556 4

Yes

Question Number : 115 Question Id ;: 6154754245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Match the following :

(a) Forward Exchange (1)
(b) Hedging (11)
(c) Arbitrage (111)
(d) Specie point (1v)

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (e)-(2v). (d)-(111)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(1). (e)-(11). (d)-(111)
(4) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
Options:

61547516557, 1

61547516558, 2

61547516559, 3

61547516560, 4

A device of covering exchange risk
against the price rise of foreign
currency

A contract to buy and sell foreign
exchange against another currency at
some fixed rate 1in the future at a price
agreed upon now

The movement of exchange rate
between two limits set by the cost of
moving gold from one country to
another

A mechanism which makes two
markets that are phyvsically separate.
a single market in the economic sense.

Question Number : 115 Question Id : 6154754245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0



(a) THIOS THEERA (AMS fatm)

(b) BT

(¢) M-IV (Tfeed)

{d} e ,-;. _.h?é

r fow o i & o e 9

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(1v). (b)-(1). (c)-(11). (d)-(111)
(4) (a)-(1v). (b)-(111). (¢)-(11). (d)-(1)

Options:
15475165571

E15475165558. 2
E1547516559. 3
B1547516560. 4

(1)

(11)

(111)

(1v)

faestt gz 1 7w g F a9 4 fatmm
FMET F1 T2 F4 F1 o G (=a=a)
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e
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Question Number : 116 Question Id ;: 6154754246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Match List-I with Last-II ;

{a)

(b)

{c)

(d)

List-I
Fiscal deficit

Budget deficit
Revenue deficit

Primary deficit

(1)

(11)

(111)

(1v)

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (c)-(11). (d)-(1v)
(2) (a)-(1). (b)-(111). (e)-(11). (d)-(1v)
(3) (a)-(m1). (b)-(1). (e)-(1v). (d)-(11)
(4) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
Options:

61547516561, 1

61547516562, 2

61547516563, 3

61547516564, 4

Question Number

Correct Marks: 2 Wrong Marks: 0

THI-1 1 g-11 F T FHfem Hiraw :
-1
(a) TTEEEE HE
(b) =2 =T
(c) T4 1120
(d) TATE =@

= f2u U e T w9

(1)
(2)
(3)
(4)

(a)-(11). (b)-(1). (e)-(11). (d)-(1v)
(a)-(1). (h)-(1). (c)-(11). (d)-(1v)
(a)-(11). (b)-(1). (c)-(1v). (d)-(12)
(a)-(1v). (b)-(111). (c)-(11). (d)-(1)

(1)
(11)

(111)

(1v)

Last-II
Excesz of total expenditure over total
recelpts
Excess of revenue expenditure over
revenue recelpts
Excess of total expenditure over total
recelpts less borrowings

Excesz of total expenditure over total
receipts less borrowings and interest
pavments

: 116 Question Id : 6154754246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

=111
Fef W=l F gon J AaF Fel =19

T T i g ° T = ST
F WAL W I G FOWH T A
AT H 37199 Fel =

FA I W IO dW =S P F
Uv=E 9 T B g H AOE Fe 9



Options:

61547516561, 1
61547516562 2
1547516562 2
61547516564, 4

Question Number : 117 Question Id : 6154754247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List-I with List-II and choose the correct option from the options given below :

List-I Last-II
(a) Treasury Bills (11 RBI
(b) Commercial papers (1) IMF
(c) Repo rate (111) Government
(d) SDRs (1v) Private Companies

Options :

(1) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(2) (a)-(111), (b)-(1v). (e)-(11). (d)-(1)
(3) (a)-(111). (b)-(1v). (e)-(1). (d)-(11)

(4) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
Options:

15475165651

1547516566 2

1547516567 2

£1547516568. 4

Question Number : 117 Question Id : 6154754247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 T G1-11 % J14 GHieAd #4991 Feiaiad [sed 3 38 ased =94

=11 =111
(a) o o= i) W A
(b) AT T (i) =12 ug U
(¢) T (iii) TFW
(d) TE I AN (iv) 3=t oA

i

Td=heq :

(1) (a)-(1v). (b)-(111), (c)-(11). (d)-(1)
(2) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(1). (d)-(11)
(4) (a)-(v). (b)-(111). (e)-(1). (d)-(11)

Options:

61547516565, 1
61547516566 2
61547516567, 2
61547516568 4

Question Number : 118 Question 1d : 6154754248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with List-I1 :

List-I List-IT
(a) Head Count Ratio (1)  Extent of poverty
(b) Poverty Gap (1) Depth of poverty
(¢)  Sguare of poverty gap (m) Poverty as deprivation
(d) Multi dimensional poverty index (1v) Severity of poverty

Choose the correct option from those given below :

(1) (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(2) (a)-(111). (b)-(11). (e)-(1). (d)-(1v)
(3) (a)-(1). (b)-(111). (e)-(11). (d)-(1v)
(4) (a)-(1). (b)-(11). (€)-(1v). (d)-(111)

Options:

61547516569, 1
61547516570 2
1547516571, 2
61547516572 4

Question Number : 118 Question Id : 6154754248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T1-1 %1 H=1-11 = |14 gHied 1 ;

-1 11
(a) T FH2 IIE (i)  THIE =R T
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(d)  wR-FAmETH T (iv) TS F g=EvEa (FA)
Fra fou e o I wd #1 =9

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(111)
(2) (a)-(111). (b)-(11). (¢)-(1), (d}-(1v)
(3) (a)-(1). (b)-(111). (c)-(11). (d)-(1v)
(4) (a)-(1). (b)-(11). (e)-(1v). (d)-(111)

Options:

61547516569, 1
61547516570 2
61547516571, 2
1547516572 4

Question Number : 119 Question Id : 6154754249 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List-I with Last-II :

List-I List-II
(a) E.Cannan (1) Optimum population
(b)  Frank Netstein (11) Transaction costs
(c) Brundtland (1) Demographic transition
(d) Ronald Coase (1v) Sustainable development

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (c}-(111), (d}-(1v)
(2) (a)-(11). (b)-(1). (e)-(1v). (d)-(1i1)
(3) (a)-(1)., (b)-(111). (c)-(iv). (d)-(11)
(4) (a)-(m1). (b)-(1v). (e)-(11). (d)-(1)

Options:

61547516573, 1
61547516574 2
61547516575 2
1547516576, 4

Question Number : 119 Question Id : 6154754249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



-1 %1 G=1-11 % T4 GHfd =iia0

=1-1 T=1-11
(a) 3. %M (i) 259 SHGEA
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(d) TAES FH (iv) Had (Jrui) o=
J= T3u 0§ O TE fawed gHvu

(1) (a)-(1). (b)-(11). (e)-(11). (d)-(1v)
(2) (a)-(11). (b)-(1). (e)-(xv). (d)-(111)
(3) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)

(4) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)

Options:

15475165731
E1547516574 2
61547516575, o
61547516576, 4

Question Number : 120 Question Id : 6154754250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following List-I with List-II :

List-T List-II
(a) CAPART (1)  Agricultural marketing
(b)y SIDO (1) Quality Guarantee
(c) NAFED (111) Small Industries
(d) AGMARK (iv) Rural Technology

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (¢)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)

i4) (a)-(11). (b)-(1v). {(e)-(1). (d)-(112)

Options:

E1547516577. 1
61547516578, 2
61547516579, 5
61547516580 4

Question Number : 120 Question Id : 6154754250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



-1 TLIT
(a) FIE (CAPART) (i) N A
(b)y Hi=M (SIDO) (ii)  TUEE] T
(c) ATHE (NAFED) (1) =H FEm
(d) TmEH (AGMARK) Gv) T ST

(1) (a)-(1). (b)-(11). (¢)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(1v). (b)-(11). (c)-(111). (d)-(1)
(4) (a)-(11), (b)-(1v). (c)-(1). (d)-(111)

Options:

61547516577, 1
61547516578 2
61547516579 2
61547516580 4

Question Number : 121 Question 1d : 6154754251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange 1n chronological order the following contributions of economists in theory of

consumer. Choose the correct answer :

(1) Linear Expenditure Svstem. Revealed preference Theorv. Cardinal Theory. Ordinal
Theory

(2) Cardinal Theory. Ordinal Theory. Revealed Preference Theory. Linear Expenditure
System

(3) Cardinal Theory. Revealed Preference Theory. Ordinal Theory. Linear Expenditure
Svatem

(4) Revealed Preference Theoryv. Cardinal Theory. Linear Expenditure System. Ordinal
Theory

Options:

61547516581, 1
E1547516582. 2
E15475168583. 3
E1547516584. 4

Question Number : 121 Question Id : 6154754251 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516581, 1
61547516582 2
61547516583 2
1547516584 4

Question Number : 122 Question Id : 6154754252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct chronological order of the following :

(a) Hayvek Theory of Investment
(b) Fisher Theory of Investment
(c) Jorgenson’s Theory of Investment

(d) Markowitz Theory of Investment

Select the correct option from those given below :

(1) (b). (a). (d). (c)
(2) (d). (b). (c). (a)
(3) {c). (a). (b). (d)

(4) (a). (c). (d). (h)

Options:
61547516585, 1
61547516586 2



E1547516587. 3
61547516588, 4

Question Number : 122 Question Id ;: 6154754252 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

lJ-l'_‘| EIE:'”IgH #l- -Sq‘i.l W E‘-F"[ %"F ':{ !':iﬁ:l:l]:]_F ]~ ’-""]"']ES'E]_':{ 43.‘#-”-]“ E

(a) B9% =1 Haw fagm
(b) r%JHIQHEiESEEﬁ{;E
(c) S =1 g faze

(d)y AP F Haw fogE
= fou e A 9@ wd TFen 9A

(1) (b). (a). (d). (c)
(2) (d). (b). (c). (a)
(3) (c). (a). (b). (d)
(4) (a). (c). (d). (b)

Options:

61547516585, 1
61547516586 2
61547516587, 2
1547516588 4

Question Number : 123 Question Id : 6154754253 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

In terms of their contribution to Econometrics which 1= correct chronological order :

(1) L.E. Klein. H. Theil. A L. Nagar. T. Haavelmo
(2) A.L. Nagar. T. Haavelmo. L.R. Klein. H. Theil
(3) T. Haavelmo. L.R. Klein. H. Theil. A.L. Nagar

(4) H. Theil. L.R. Klein. A L. Nagar. T. Haavelmo
Options:
1547516589 1
61547516590 2
1547516591 2
61547516592 4



Question Number : 123 Question Id : 6154754253 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FAMHE 0 595 I7EE F A59 § Fefaigd 8 § S Fewaaan 9h5 2

(1)  Ue.¥W. 9o, U=, o/, 0.0, 90, 31, 7ol

(2)  ©.UE, AP, A1 FAeEl, UA.HE, F94, UE.
(3) 7. EemI, vELAW. FoM, TE. ofid, T, iR

(4) T, i, TH, W, ¥, UUH, PR, 21, 2l
Options:
1547516589, 1
E1547516590 2
61547516591,
61547516592 4

Question Number : 124 Question Id : 6154754254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which 1s correct chronelogical order of Economists contributing to input-output analysis?

(1) Hawkins-Simon. Leontief. Karl Marx. Quesnay
(2) Karl Marx. Quesnay. Leontief, Hawkins-Simon
(3) Quesnay, Karl Marx. Leontief. Hawkins-Siumon
(4) Leontief. Hawkins-Simon. Karl Marx. Quesnay
Options:

6154751685392, 1
E15475165394. 2
E1547516535. 3
B15475165356. 4

Question Number : 124 Question Id ;: 6154754254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

. - F i~ - ~ . R | i~ = - e =E L Ty [ él.-
P —E:M':J (et H APIEHRAT HLAEMEAT &l HHRTET H 8 91 SlelHATHEN 968 & ¢

(1)  =ig-anegd, =%, = ged, 7294

(2) Flet A9, T4, T s siha—aEaa
(3)  FaH, Fel HIFE, fAHATIE, FE-AEE

(4) A%, SFa—a75a, =i 9194, -

Options:



E15475165593. 1
61547516554, 2
61547516585 3
615475165396, 4

Question Number : 125 Question Id : 6154754255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Arrange the following theories of international trade in chronological order as they appear :

(a) Theory of Opportunity Cost
(b) Theorv of Comparative Cost
(c) Factor Price Equalisation Theorem

(d) Theory of absolute cost

Identify the correct chronological order.
(1) (d). (b). (a). (c)
(2) (e). (b). (d). (a)
(3) (b). (d). (a). (c)

{4) (a). (c). (d). (b)
Options:
61547516597 1
E1547518598. 2
BE154751685599 2
61547516600 4

Question Number : 125 Question 1d : 6154754255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Fetefga waadE =N fogEl # 96 79 F A0 A5 FeEE i 9eaE FHiAo

(a) 39 =G F EEE

(b) qeATcH: TANTd = FzPAG
{C_} A , =4 T 5 Ed_

@ e e (vsAEE wie) w1 g

-'H?.'ﬁ TleThH qha|r|'_‘|. LE

(1) (d). (b). (a). (c)
(2) (c). (b). (d). (a)
(3) (b). (d). (a). (c)

(4) (a). (c). (d). (b)

Options:

61547516597, 1
61547516598, 2
61547516599 2
61547516600, 4

Question Number : 126 Question 1d : 6154754256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following in chronological order :

(a) The Indirect Tax Enquiry Committee (Jha Committee)

(b) Tax Reforms Committee (R.J. Chellaiah Committee)

(c) Taxation Enguiry Commission (Mathur Committee)

(d) The Direct Tax Enguiry Committee (Wanchoo Committee)

Choose the correct option from those given below :

(1) (e). (b). (d). (a) (2) (e). (a). (d). (b)
(3) (b). (e). (a). (d) (4) (e). (d). (a). (b)
Options:

61547516601, 1
61547516602, 2
61547516603, 3
61547516604, 4



Question Number : 126 Question Id : 6154754256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

EfeTEd = T HET ST hira

(a)  ATCAE F A= WEE (0 AEE)

(b) T YR AEE (AW, IeA=A HHE)
(c)  FATaH I/ "W (W ")

(d)  eIE F A= "W (S =)

(1) (c). (b). (d). (a) (2)  (e). (a). (d). (b)
(3) (b). (c). (a). (d) (4) (e). (d). (a). (b)
Options:

61547516601, 1
E154751660Z. 2
E1547516603. 3
51547516604, 4

Question Number : 127 Question 1d : 6154754257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following 1s the correct sequence in the ascending order of the magnitude?

(1) Repo Rate. Reverse Repo Rate. Statutory Liquidity Rate (SLR) and Marginal
Standing Facility Rate (MSFR)

(2) SLR. MSFR. Repo Rate. Reverse Repo Rate

(3) Repo Rate. SLE. MSFR. Reverse Repo Rate

(4) Eeverze Repo Rate. Repo Rate. MSFR. SLR

Options:

51547516605, 1
61547516606, 2
61547516607, 2
61547516608 4

Question Number : 127 Question Id : 6154754257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IR Gl L e s e o e ) e 1 e s RS 1 o o =

(1) 1 o, e 't At AT (TH T W) GAT HISAAS TS HERl o1 (TH UH T
W)

(2) THUA AW, UH UH UF §F, M o, e

(3) 141 o, UM UE HW, UH UH UF AN, o wEa

(4) =" @ =, 0 T, UH U UF AW, UH UE AW

Options:



E1547516605. 1
61547516606, 2
B15475166807. 3
61547516608, 4

Question Number : 128 Question Id : 6154754258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following books 1n the correct chronological order :

(a) Das Capital
(b) Value and Capatal
(c) Capital and Growth

(d) Accumulation of Capital

Choose the correct option :

(1) (d). (b). (c). (a)
(2) {a). (b). (d). (¢)
(3) {a). (b). (c). (d)

(4) (b). (a). (d). (c)
Options:
61547516609, 1
61547516610, 2
61547516611 3
61547516612 4

Question Number : 128 Question Id : 6154754258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tfafas T==1 F1 T8 FEE FH 3 geartd #:7

{a) =19 Fed
(b)  Heg UUS FiUzd
(c) T2 U0 T

(d)  THHEAIE HATE e

(1) (d). (b). (c). (a)
(2) (a). (b). (d). (c)
{(3) {a). (b). (c). (d)

(4) (b). (a). (d). (c)

Options:

61547516609, 1
61547516610 2
61547516611, 2
1547516812 4

Question Number : 129 Question Id : 6154754259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in the chronological order in which these happened :

(a) Pariz Climate Agreement
(b) Rio Earth Summait
(c) Brundtland Commaission

(d) Evoto protocol

Choose the correct option :

(1) (a). (b). (c). (d)
(2) (b). (d). (a). (c)
(3) (d). (b). (c¢). (a)

(4) (c). (b). (d). (a)

Options:

61547516613, 1
61547516614 2
1547516615 2
1547516816 4

Question Number : 129 Question Id : 6154754259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T4 %0 H 77 Fed 80 2 30 RILHAT w0 § FEiEiEd 1 gy w7l

(a) 9T FEE AHAET
() T gt T T
(c)  H3cis HAEM

(d) TR GEERE

TE fa%hed =1 =999 L

(1) (a). (b). (c). (d)
(2) {b). (d). (a). (c)
(3) (d). (b). (c). (a)

(4) (c). (b). (d). (a)

Options:

61547516613, 1
1547516814 2
1547516815 2
1547516616, 4

Question Number : 130 Question Id : 6154754260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following events in chronological order :

(a) First phase of Nationalisation of Commercial Banks
(b) Esztablishment of Narashiman Committee on banking system
(c) Enactment of FEMA Act

(d) Establishment of EXIM Bank of India

Choose the correct from the following options :

(1) (a). (c). (d). (b)
() (a). (d). (b). (c)
(3) {(a). (c). (b). (d)

(4) (a). (d). (e). (b)



Options:

61547516617, 1
615475166818 2
1547516619 2
61547516620, 4

Question Number : 130 Question Id : 6154754260 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AT Ad=ae 1 Ffaigd 92l F1 FEAOEan 9 0 e

(a)  TFHEES S F TEEF F TEAT T
(b) = YOIl T THTET A %l T
(¢)  THET IALHIH AL FRAT M1

(d)  HWA & UFAH sk hi ST

e O Tl Jehed 91

(1) (a). (c). (d). (b)
(2) (a). (d). (b). ()
(3) {(a). (c). (b). (d)

(4) (a). (d). (c). (b)
Options:
61547516617, 1
61547516618, 2
615475166149 2
61547516620, 4

Question Number : 131 Question Id : 6154754261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reaszon (R) :

Assertion (A) : For certain goods. the expenditure by the consumers decreases.

Reasons (R) : For such goods. the income elasticity of demand 1s high.
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 18 not correct explanation of (4)
(3) (A) 18 true but (R) 1s false

(4) (A) 18 false but (R) 1s true
Options:

61547516621, 1

1547516622 2

El54d7516623 2

61547516624 4

Question Number : 131 Question Id : 6154754261 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 31 7 o o E foml v w1 sAfueE (A) a9 59 1 9% (R) el T 2

AR (A) Fed g1 0 UEFI g E@iE == 4 FEa A 2|
% (R) : 5% T3 % fow gm 6t a3 == wfas 2 2

ST FUA1 o g5l d T@ aFew 91

(1) (A) T (R) EHI T 2 3 (R). (A) I TF1 =301 2
(2)  (A) 9T (R) EHI T& F 3T (R). (A) F T =0 TE 2
(3) (A ®E 2 T (R) Ted @

(4)  (A)7TEd 2 W (R) Tl 2

Options:



BE1547516621. 1
B1547516622. 2
B1547516623. 3
E1547516624. 4

Question Number : 132 Question 1d : 6154754262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 12 labelled as Assertion (4) and the other 1s labelled as

Reason (R) :

Assertion (A) : In classical model. investment demand 1s regarded as autonomous of

changes 1n income or emplovment

Reasons (R) : It 1s wage price flexibility which brings full employment in the classical

model

In the light of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1= correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 12 false but (R) 1s true
Options:

1547516625 1

1547516626 2

1547516627 2

1547516628 4

Question Number : 132 Question Id : 6154754262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Fror 21 e fom o # o v =7 Al (A) 991 58T F 9% (R) FE TR

I (A) - FATG! Aizd § a9 A1 1 379 A9 TSR § 9iada) § =93 9697 9691 2
% (R) : el Tegii—shigd =1 A=l & 91 FAraeh] gigd § 0 T =6l el

SR AT F HEd H BE T =94

(1) (A) T (R) TEI T 2 317 (R). (A) FI T =01 2
(2)  (A) T4 (R) 5HI W@l & AT (R). (A) =i H&l =7 6 2
(3)  (A)TE 2 T (R) T 2

(4) (A T & 3 (R) T 2

Options:
E1547516625.

BE1547516626.
B1547516627.
B1547516628.

e LI M

Question Number : 133 Question 1d : 6154754263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements : Given below are two statements — one 1s labelled as

Assertion (A) and the other is labelled as Reason (R) :

Assertion (A) : Geometric Mean 1z theoretically considered as the best average to

Construct Index Numbers

Reazonsz (R) : Geometric mean 1s used if the range of observations are extremely large

In the light of the above two statements. choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (4)

(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)

(3) (4) 12 true but (R) 1s false
(4) (A) 15 false but (R) 1s true
Options:

E1547516629. 1



E1547516630. 2
B1547516621. 3
B154751663%. 4

Question Number : 133 Question 1d : 6154754263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

= 31 FeE fom e E

AT (A) T R | S a9 g gaee siEd 5 T 2
T (R) : S AT 1 WA a9 = S 2 W 5e) ] i sEd 99 2 2

S FAA1 % G § WA fawed =9

(1) (A) Fu1 (R) 5H1 T#1 7 11 (R). (A) Fi @& =aw=n 2
(2) (A) Fam (R) =M1 T8 2 =18 (R). (A) #il T2 =gven 74 2
(3) (A) T2 £ 317 (R) TG

(4) (A) 7Ted B #E (R) 99 7

Options:

61547516620, 1
61547516630 2
61547516631, 2
61547516632 4

Question Number : 134 Question 1d : 6154754264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1 labelled as Assertion (A) and the other 1s labelled as

Reazon (R) :
Asszertion (A):  CES production function covers large class of production functions
Reazons (R) : CES production function has the property of constancy of elasticity of factor

substitution
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) is correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3 (A) 1s true but (R) 1s false

(4) (A) 15 falze but (R) 1= true
Options:

E1E47516E22 1

E1547516634 2

61547516635 2

E1547516636. 4

Question Number : 134 Question Id ;: 6154754264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fi= =1 e fou o 2 T v 1 st (A) 91 o5 1 9 (R) AT TR

ATFIT (A) Hi.3.UH. I0TCA Fold, I0T1GA ol & 9% 91 whi s3] AT 2
TF (R) : 1.5, 00, IoAEA Ferd H e UiaEmeE o 6 TR 20w e w2

I o FUAT | Aol 0 WA et =94

(1) (A) 207 (R) =F1 Tl = 31T (R). (A) =1 T1 =231 2
(2) (A7 (R) 241 T & 37 (R). (A) F1 wa sgwe 9 2
(3) (A) Tl 2 317 (R) TTerd 2

(4) (A) TTed B 3 (R) @1 7

Options:



BE1547516633. 1
61547516634, 2
61547516635, 3
E1547516636. 4

Question Number : 135 Question 1d : 6154754265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Heazon (R):

Assertion (A) : Intellectual Property Rights were brought into the Uruguay Round

Trade Negotiations

Reazons (R) : International trade restrictions can be used to discourage the vicolation of

intellectual propertyv rights.

In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options:

E1547516637. 1
61547516628, 2
61547516639 2
61547516640 4

Question Number : 135 Question 1d : 6154754265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



= 71 FoF Tou U T uF W ATwYA (A) 991 55 7 (R) FE TR

ATTFT (A) HifoF T ARl 1 S TEE 73 TNREE § S T
% (R) : ST SAITE WAl 1 A SigE 9Ug AR+ 3g 9T F BdeaiEd #4 & o

fFar = o 2|
S o1 FYA F G ° GE1 e =1

(1) (A a9 (R) 3H1 971 377 (R). (A) 1 =1 =am= 2
(2) (A) T {'R}?:.'I:ﬁ ﬂﬁ? o111 (R). (A) #FT 75 == 95 2
(3) (A) =1 2 R (R) T 7

(4) (A) Ted & 371 (R) 991 2

Options:

61547516637, 1
61547516638, 2
61547516639 2
61547516640 4

Question Number : 136 Question Id : 6154754266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The problem relating to burden of public debt has been dealt by

(a) AP. Lerner
(b) E.D. Domar
(c) A.C. Pigou

(d) A H. Hansen

Select the correct answer from the options given below :

(1) (a) and (b)
(2) (b) and (c)
(3) {a) and (d)

(4) (b) and (d)

Options:
61547516641, 1



E1547516642 2
B1547516643. 3
51547516644, 4

Question Number : 136 Question Id : 6154754266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
atfEd 0 0 03 oEaEs =0 91" 9 9t I 1 Yiaded B 27

(a) U, o
(b) 331 =W
(c) u.Hl. T

(d) TUE. &

3 fo o S @ wE S

(1) (a) 747 (b)
() (b} 9= ()
(3) (a) 99 (d)

(4) (b) 941 (d)

Options:
£1547516641. 1

E1547516642 2
B1547516643. 3
51547516644, 4

Question Number : 137 Question 1d : 6154754267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one 1= labelled as Assertion (A) and the other 1s labelled as

Heazon (R):

Aszertion (A):  In order to control inflationary tendencies. RBI raises the repo rate

Reazons (R) : By so during. RBI wishes to contrel consumption demand
In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (4)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s falze but (R) 1= true
Options:
1547516645 1
1547516646 2
1547516647 2
1547516648, 4

Question Number : 137 Question Id : 6154754267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
{1 1 o fou 0 2 T v 1 sfaswea (A) 991 55 F 9% (R) A R

ATFIA (A) | Tz Tifasl gl & e & fon o &t o e | gig Fa 2|
7 (R) : U FEF AW S A 9 O # REtm w1 9T 2

I 71 FUA F e A WE e 1A

(1) (A) @ (R) 5H1 98 # 311 (R). (A) 1 92 =gqven 2
(2) (A) 721 (R) =FT T8 # 31 (R). (A) =1 921 =Iveg 94 &
(3) (A= ? AR (R) T B

(4)  (A) 7= 2 FR (R) T 2
Options:

E1547516645. 1
E154751E64E. 2



E1547516647. 3
61547516648, 4

Question Number : 138 Question Id ;: 6154754268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements — one 1s labelled as Assertion (A) and the other 1z labelled as

Rea=zon (R) :
Assertion (A) : Inclusive growth 1s a must for a country like India
Reasons (R) : India 1= an open economy with a significant external sector

. In the light of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1= correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1= not correct explanation of (A)
(3) (A) 12 true but (B) 1s false

(4) (A) 12 falze but (R) 1= true
Options:

15475166459 1

1547516650 2

E1E47516EE]1. 2

1547516652, 4

Question Number : 138 Question Id : 6154754268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



o,

H &1 FoH fou o @ foHH U A1 SIfseE (A) 991 55 1 9% (R) a1 T E

ST (A) TR S0 29w v ouree e a2
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ST 31 F2A1 % e § oet o 94

(1) (A) T9T (R) SH1 T8l & 31 (R). (A) il OF1 =Gr= 2
(2) (A) 94T (R) 3HT T2l £ 31T (R). (A) =l T =aw=ar 98 2
(3)  (A) T 2 3 (R) Toid 2

(4)  (A) T4 & 3 (R) 9F 2

Options:

1547516649, 1
E1547516850. 2
1547516651, 5
61547516652, 4

Question Number : 139 Question Id : 6154754269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two statements — one 15 labelled as Assertion (A) and the other is labelled as

Reazon (R) :

Assertion (A) : Parties to a dispute over property rights will be able to negotiate an

economically optimal solution

Reasons (R) : There are efficient. competitive markets and there are no transaction costs
. In the light  of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 15 the correct explanation of (4)

(2) Both (A) and (R) are true and (R) 12 not the correct explanation of (A)

(3) (A) 15 true but (R) 1s false
(4) (A) 1s false but (R) 1s true
Options:

BE1547516653. 1



E1547516654. 2
61547516655, 3
51547516656, 4

Question Number : 139 Question 1d : 6154754269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
4= =1 FoF 15U T £ oA UF B AHYE (A) 791 55 F 7% (R) FETEE

ATFI (A) : FUIE AaFR] W fFaE F us TeE =9 0 gudy JuiaE & 60 S #5965 2
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I SFT F2AT F TEE H WAl [=heT 91

(1) (A) " (R) HT 981 & 30 (R). (A) $1 =21 =gmen 2
(2) (A) 721 (R) 5F1 971 £ #1 (R). (A) =1 921 =G0 77 7
(3) (A) T2t 2 3 (R) Toid 7

(4) (A) Teid 7 3 (R) O 7
Options:
61547516653 1
E154751E8654,. 2
E154¥Y5168655 3
61547516656 4

Question Number : 140 Question Id ;: 6154754270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements — one 1s labelled as Assertion (A) and the other 1s labelled as

Reazon (R) :

Assertion (A):  Disguised unemployment 1s present in India
Reazons (R) : Agricultural productivity at margin 1s close to zero

. In the light : of the above two statements choose the correct option :

(1) Both (A) and (R) are true and (R) 1s correct explanation of (A)
(2) Both (A) and (R) are true and (R) 1s not correct explanation of (A)
(3) (A) 1s true but (R) 1s false

(4) (A) 1s false but (R) 1s true
Options:

615475166571

61547516655 2

1547516659 2

1547516660 4
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Correct Marks: 2 WrongMarks: 0

S =1 FUA 70 T T5EE U H AT9EeE (A) 991 76 H T (R) FE T

ATF (A) wrE H Tt 25 s faemm 2
T (R) IS T T IeAEFHA F F AT 7

SWIRE o1 HUA F wed 0w ey =99

(1) (A a= (R) 3F1 D& 2 301 (R). (A) F1 =& =gm=T 2
(2) (A (R)5H1 T # 30 (R). (A) #1971 ==we 76 2

Al

(3) (A) TH & 311 (R) 74

(4) (A) TTed 2 3R (R) 971 7

Options:

61547516657, 1
61547516658, 2
61547516659 2



E1547516660. 4

Sub-Section Number: 2
Sub-Section 1d: 615475190
Question Shuffling Allowed : Yes

Question Id : 6154754271 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cesticn Label | Comprehiension



Read the following passage and answer questions . which follow:

Industrialization and growth

From the global perspective, there seems to be a close association across countries between
living standards and the share of resource devoted to industrial activities. at least up to a
certain point. In very poor countries there is virtually no industrial activity at all, while
the middle- and high-income countries devote 20-40 per centl of resources to industry.
Only three countries in the world have become rich on agriculture alone : Australia,
New Zealand and Canada. In all other countries, living standards have risen rapidly

only as resources have shifted out of agriculture into industry and sophisticated services.

Furthermore, research also shows a close association across countries between the growth of
industry and the growth of GDP; or more precisely, that GDP growth is faster the greater the
excess of industrial growth relative to GDP growth: that is. when the share of industry in
total GDP 1s rising the fastest. Figure shows this relationship across 131 developing
countries over GDP is rising the fastest. Figure shows this relationship across 131
developing countries over the period 2000-2005, with GDP growth measured on the vertical
axis and the growth of industry.

Association between growth of industry and growth of GDP
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on the horizontal axis. The scatter points represents the individual country observations. A
line through the points with a slope less than unity shows that the greater the excess of
industrial growth over GDP growth. the faster GDP seems to be. The point where this line
cuts the 45-degree line gives the average growth rate that divides countries into those where
the shares of industry is falling and are growing slowly. and those where the share of
industry is rising and are growing fast. A linear equation fitted to the scatter points in

Figure gives the following regression result :
2=2529+0.394x r’=0.507

The equation says that the country with industrial growth one percentage point above the
average for all countries will have GDP growth of 0.394 percentage points above the average.
and the point where the regression line cuts the 45-degree line 1s approximately 4.5 per cent.
This rate of industry growth separates the slow-growing countries from the faster-growing
countries.

The guestion 1s : what 1s special about industry. and particularly manufacturing industry,
which accounts for these empirical assoclations, and which makes industry ‘the engine of
growth'? Since differences in the growth of GDP are largely accounted for by differences in
the rate of growth of labour productivity. there must be an association between the growth of
industry and the growth of labour producitivity. This is to be expected for two main reasons.
First, if there are increasing returns to scale in industry. both static an dynamic, a relation 1s
to be expected between the growth of industrial output and the growth of labour productivity
in industry Static economies of scale refer to the economies of large-scale production
whereby the mass production of commodities allows them to be produced at a lower average
cost. Dynamic economies of scale refer to the induced effect that output growth has on
capital accumulation and the embodiment of new technical progress in capital. Labour
productivity alzo increases as output growth through learning by doing’. Second. if activities
outside industry, such as agriculture and petty services, are subject to diminishing returns,
with the marginal product of labour less than the average product. then if resources are
drawn from these activities into industry as industry expands, the average product of labour
will rise in non-industrial activities.

These relationships between industrial growth. productivity growth and GDP growth are
known in the growth and development literature as Kaldor's Growth Laws, named after the
famous Cambridge economist (Lord) Nicholas Kaldor. who first enunciated them in the
1960s (Kaldor. 1966. 1967)
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Dynamic economies of scale do not include which one of the following :

(1) Induced effect of output growth on capital accumulation

(2) Improvement in quality of capital due to new technology

(3) The Labour intensive sector will experence increasing returns will growth of output

(4) A shaft from less productive to more productive sector will lead to a rise mn the
average product of labour

Options:

61547516661, 1
61547516662, 2
1547516662 2
1547516664 4
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Correct Marks: 2 Wrong Marks: 0
Consider the following statements.

(a) The association between growth of industrv and growth of GDP. make industry the
‘engine of growth’

(h) Differences in GDP growth do not account for growth in labour productivity

(c) GDP growth rates are reflected 1n the growth rate of labour productivity

(d) The growth of industry 1s subject to increasing returns

Choose the correct option from below :

(1) {a). (b) and (c)
(2) (a) and (c) only
(3) (b). (c) and (d)

(4) (b) and (d) only

Options:
61547516665, 1
61547516666, 2
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Consider the following statements 1n relation to the figure.

(a) The 45° line would indicate equal correspondence between industral growth rate and
GDP growth rate

(h) GDP growth rate 1s the cause of industrial growth rate

(c) The excess of industrial growth rate over GDP growth rate 1s fuelling more GDP
(d) The dividing line of slow and fast growing economies 1s the industrmal growth rate of
3.9%

Choose the correct option :

(1) Only (a) and (c) are true
(2) Only (a) and (b) are true
(3) Only (a). (b) and (d) are true
(4) Only (b) and (d) are true

Options:

61547516669, 1
61547516670 2
61547516671, 2
1547516672, 4
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Which one of the following statement 1s not correct for middle and highly developed

countries?

(1) These devote on an average 30 percent of the resources to industrial activity

(2) Growth of industrial activity involves shift of resources from agriculture to industry
(3) Shift of resources 1z uniform between agriculture industry and higher order services

for higher growth
(4) Australia. Canada and New Zealand have developed due to growth of agriculture alone

Options:
15475166731
61547516674 2

E154751E8E7E. 3
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Which one of the following statement 1s correct?

(1)

(2)
(3)

(4)

Options:

There 1s a positive relation between lhving standard and resources denoted to
industrial activity in few countries

There 1s a close association between living standards and resources utihzed

The relation between the lhiving standards and resources denoted to industmal
activity 1s globally true

There 15 little association between hving standards and resources utilized

B1547516677. 1
B1547516678. 2
G1547516675. 3
E1547516680. 4
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